AOlIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS
1. Api1Buodceikteg PeuotdTnTag — Liquidity Ratios.

e ApBpodeiktng Kvkiopoprokng Pevotdémrag (Working Capital Ratio or Current Ratio).

Kvihopopraxd Evepyntikod

Ap1Bpodeixtng Kvkhopoprakng Pevototntog = Bpaumpodeopio Munriko

Current Assets

Working Capital Ratio = Current Liabilities

e Ap1Buodeiktng Ipaypotikng Pevototnrag (Quick Assets, or Liquidity or Acid test ratio).

Kvkhopopiaxd Evepyntikd — Tehkod AndOepa

Ap1Bpodeixtng Ipaypatikng Pevotdomrog = Bpuyumpofeoiio TadnTiko

Current Assets - Stock

Quick Assets Ratio = ——~ o abilities

e ApBuodeiktng Apeong Touetokng Pevotomroc (Immediate Cash Ratio)

Tapeio + Tpanela
Bpayvnpobeopo [Tabntiko

ApBpodeixtng Apeong Tapelokng Pevotdtmrag =

Cash + Bank

Immediate Cash Ratio = —= o ilities

e Ap1Buodéktng Kukhopoprokng Taydtntog Arofepdtov (Epmopevudrov) (Stock Turnover
Ratio).

Koéotoc tov [Toicewv

ApBpodeixtne Kvukhogpopaxng Toydtmroag Anobepdrov = Mécoc Opoc ATodentey

Apyico AmoBepa + Telkd AndOspa

Mécoc Opog AmoBepdtov = 5

Cost of Sales

Stock Turnover Ratio = Average Stock

Opening Stock + Closing Stock
2

Average Stock =

e Ap1Bpodeiktng Méong Aldpkelag Xopnyovpévav IMotdcewv (Debtors Ratio).

Xpewoteg X 3651 X 521X 12

Appodeiktng Méong Awdpketag Xopnyovpévev [Iiotdosmv = Kabopéc Twhioeic ue Miotwon

Debtors X 365 or X 52 or X 12

Debtors Ratio = Net Credit Sales




e Ap1Buodeiktng Méomng Aldpkelag AopPavopévav Ihiotooemv (Creditors Ratio).

IMototég X 365 X521 X 12
KoBapéc Ayopés pe [lictmon

Ap1Buodeiktne Méong Awdpkelag Aappavouévev Iiothoeny =

Creditors X 365 or X 52 or X 12
Net Credit Purchases

Creditors Ratio =

2. Ap1BpodeikTeg ATrodoTIKOTNTAG - Profitability Ratios.

e Ap1Buodeiktng Miktod Képdovg (Gross Profit Ratio).

Muwkt6 Képoog X 100
KaBapéc [Tornoeig (Toig petpnroig + pe miotmon)

Ap1Bpoodeixtng Miktov Képdovg =

Gross Profit X 100
Net Sales (Cash + Credit Sales)

Gross Profit Ratio =

e Ap1Bpodeiktng Kabapov Képdovg (Net Profit Ratio).

KoBapd Képdog X 100
KoBapég [Toinoeig (Toig petpnroig + pe mioctmon)

Ap1Bpodeixtng Kabapov Képdovg =

Net Profit X 100
Net Sales (Cash + Credit Sales)

Net Profit Ratio =

e Ap1Buodeiktng Amodotikdtnrag Anacyorlovuévov Keparaiov (Return on Capital
Employed).

KaBapd Képdog petd m dopoloyia

AmnaoyoAiovpevo Kepdaio X 100

ApBpodeiktng Amodotikdtntag Anacyorovpévonv Kepotaiov =

Amacyolovpevo Kepdloto = Metoywd Kepdiato + Anobepaticd + Oporoyieg + Mokponpofeopio Advela

Net Profit After Tax

Capital Employed X 100

Return on Capital Employed Ratio =
e Ap1Buodeiktng Amodotikdtnrag Kowvod Metoyikov Kepaiaiov (Net Income as a
Percentage of Equity Capital).

Kafapd Képdog petd m Poporoyia — Mépiopa [Tpov. Metoydv
. - . X 100
Kowo Metoyucd Kepdhato

Ap.Amodotikdmrag Koo Metoyucov Keparaiov =

Net Profit after Tax — Preference Dividend

Equity Capital (Ordinary Share Capital) X 100

Net Income as a Percentage of Equity Capital Ratio =



3. Aia@opol dAAol ApIBUODEIKTEG.

¢ BaOuoc E€aptioemg Koo Metoyikov Kepaaiov (Capital Gearing Ratio).

i , , , P Kowé Metoyikoé Kepdiaro
Babpog E€aptioeng Koo Metoyikov Kepaiaiov Metoyucd Kepdhato Ipov. Metoydv + Makpompddeouo Madnticd

. . L Equity Capital (Ordinary Share Capital)
Capital Gearing Ratio = Preference Share Capital + Long Term Liabilities (Fixed Interest Capital)

o Yyéom AmoBepatikov kot Kowob Metoyukod Keporaiov 1 Babpog Avtoypnpatodotioemg
(Reserves to Equity Capital Ratio or Self Financing Ratio).

. , , , L AnoBegpoticd X 100
Yyxéon AmoBepaticov kot Kowvod Metoyuot Kepaiaiov = Kowd Metoyixd Kepahato

. . L Reserves X 100
Reserves to Equity Capital Ratio = Equity Capital ( Ordinary Share Capital)

o [Tpaypatikn A&ia Metoyng (Net Assets Value of Shares).

. , , , Kowd Metoyikd Kepdaio + AmoBepatikd
ApBpodeiktng Hpaypotikng A&log Metoyng = Aplguég Ko(fvo’)v Metoyoy i

_ Ordinary Share Capital + Reserves
Net Assets Value of Shares = Number of Ordinary Shares

e [Tocootd pepiocpatog tov Kowvod Metoyikod Kepotaiov (Dividend as a Percentage to
Ordinary Share Capital).

Iocooto pepiopatog tov Kowod Metoyucot Kepolaiov = Dégﬁ}gﬁgfg;:gvé\: Z:;;SS?Z X 100
o : : Ordinary Share Dividend
Dividend as a Percentage to Ordinary Share Capital = y X 100

Ordinary Share Capital
¢ Babpog Koddvyemg Mepiopotog Ipovopiovymv Metoymv (Preference Dividend Cover).

, , , , . KoBopo Képdog petd m Poporoyia
BaOpoc Kolvyewg Mepioparog Ipovopovywv Metoymv Méptopo Hpovoptobymy Metoydy

Preference Dividend Cover = Net Profit after_T_axatlon
Preference Dividend

e BaOuoc Koldvyewc Mepiopatoc Kowvamv Metoywv (Ordinary Dividend Cover).

, , , i . KabBopd Képdog petd ™ Poporoyio — Mépiopa [Ipovou. Metoymv
Babpoc Kalvyewg Mepiopatog Kowdv Metoydv Mépropia Kowav Metoyov

) .. Net Profit after Taxation — Preference Share Dividend
Ordinary Dividend Cover = - —
Ordinary Dividend




e Ap1Buodeiktng Amoddoemg oe Képdn ava Metoyr, (Earnings Per Share Ratio).

KaBapd Képdog petd m Poporoyio — Mépiopo [povop. Metoydv
Ap1Bpog Kowvaov Metoyov

ApBpodeiktmg Amoddoemg oe KEpdn avd Metoyn =

Net Profit after Taxation — Preference Share Dividend
Number of Ordinary Shares

Earnings per Share Ratio =
e Ap1Buodeiktng Amddoong Metoyng o Mépiopa pe Baon v Tpéyovsa Ty (Dividend
Yield).

Mépiopa avd Metoyn
Tpéyovoa A&io Metoyng (Twun Ayopdc)

Anddoon Metoyng o Mépopa pe Béon v Tpéyovoa Tun = X 100

Dividend per Share
Market Value per Share

Dividend Yield = X 100



